TSI Tutoring - Palmview HS - Math Dept
Polynomials ( Add and Subtract )

Example 1:
Simplify (5x* =2x+7)-(3x>*+6x-4)?

(522 — 22+ 7) — (322 +6x —4) Distribute negative through second part
502 —2r+7—322—6x+4 Combinelike terms 52 — 32, — 2z — 6z, and 7+ 4
222 —8x+11  Our Solution

Practice:
Simplify these expressions

11) (5p —5p*) — (8p — 8p*)

12) (Tm?+5m3) — (6m® — 5m2)
13) (3n2+n?) — (2n® —n?)

14) (2% +52%) + (722 4 32°)

15) (8n+n*) — (3n —4n?)

16) (3v*+1)+ (5 —v?)

17) (1+5p%) — (1 —8p?)

18) (62 +5x) — (82 + 627)

19) (5n*+6n3) + (8 — 3n? — bn?)

20) (8z%2+1) — (6 — 22 —z%)

21) (3+bY) + (74 2b+b")
22) (14 6r%) + (6r*—2—3r")

23) (82° + 1) — (5z' — 62° +2)
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Polynomials ( multiply )

Example 1:
Simplify (2x - 5)(4x?> - 7x+3) ?

(22 —5)(42? — Tz +3)

47?22 —5) — Tx(2x — 5) +3(2x — 5)
8x* —20x? — 1422 + 352 + 6x — 15

8r? — 34x% +41x — 15

Practice:

Find each product.
1) 6(p—T7)

3) 2(6x +3)

5) 5mt(dm + 4)

7T) (4n 4+ 6)(8n 4+ 8)

9) (8b+3)(7h—5)
11) (4= +5)(2z +3)
13) (3v —4)(5v — 2)
15) (6z — 7)(4x + 1)
17) (5x + y)(6x — 4y)

19) (x+3y)(3z +4y)

Distribute (22 — 5) through parent hesis
Distribute againthrough each parenthesis
Combine like terms

Our Solution

2) 4k(8k +4)

4) 3n%(6n +7)

6) 3(dr —7)

8) (2r+1)(x—4)

10) (r+ 8)(4r + 8)
12) (Tn —6)(n+7)
14) (6a+4)(a — 8)

16) (5z — 6)(4z — 1)
18) (2u + 3v)(8u — Tv)

20) (8u+ Gw)(Hu — Sv)
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Polynomials ( multiply )-special

Example 1:
Simplify (a+5)* ?

(a+b)*
(a+Db)(a+Db)
a(a+b)+bla+Db)
a’+ab+ab+b?
a?+ 2ab 4 b?

Squared is same as multiplying by itself
Distribute (a + b)

Distribute again through final parenthesis
Combine like terms ab+ ab

Our Solution

Practice:

Find each product.
1) (x+8)(x —8)

3) (1+3p)(1—3p)

5) (1=Tn)(1+7n)

7) (5n —8)(5n +8)

9) (4z +8)(4x — 8)

11) (dy — z)(dy + x)

13) (4m — 8n)(4dm + 8n)

15) (6x — 2y)(6x + 2y)
17) (a+5)°
19) (z —8)?
21) (p+T7)?

23) (7 — 5n)?

2) (a—4)(a+4)

1) (z—3)(x+3)

6) (8m +5)(8m — 5)
8) (2r+3)(2r — 3)
10) (b—T)(b+T)

12) (Ta+ Tb)(7a — Th)
14) (3y — 3x)(3y + 3x)
16) (1 +5n)®

18) (v +4)*

20) (1 —6n)?

22) (Tk = T7)°

24) (4x —5)?
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Polynomials ( division )

Example 1:

S +H4x? =2x+
Simplify = j;z xt6 ,

Srd+ 472 —2r+6
A2

8rd  Aq? 2 . 6
A2 4x? 4?0 422

Divide each term in the numerator by 4z?

Reduce each fraction, subtracting exponents

Remember negative exponents are moved to denominator

2r+1— Qi — % Our Solution
T T
Divide,
20l + r 4 0p2
1) 422

2om? 4+ n 4 40n?
10

3)

1294 + 2403 4 32
Gr

5)

.ﬂ 10mt + 50m? + 2
10m?

ujﬁ-u-n
r+ 8

- + 13n =32
n+5

11)

v* — 2v — 89
=10

13)

2
-y a®—4q 38
15) — =

Rrd 4 4507 + 422
2) =

U™ + Akt + 2k
4} sk

. Gpt 4+ 16p7 + 16p°
6)
ip
3md + 18m? 4 27m?
Qm2

8)

i —3r —53
r— L

10)

b — 106+ 16
12) —

%+ 4x — 26
14} T+ 7 :

74 — 10z + 22
lﬁ:l T =4




